Mth 95 Practice Exam Franz Helfenstein Name

You must show the solution process not merely the answer to receive full credit. Write in a neat
and organized fashion. Circle or box-in your answers. 100 pts.

1)  Mathematics often requires finding the equation of a line from a graph. Outline a
procedure for finding the equation of a line in slope-intercept form. 2) Then find the
equation for the graph shown.

40

1) Solution

2) =

25
50 80

3)

4)

Solve each of the following equations algebraically. Show all steps and check your answers
where possible. If you must solve a quadratic, you may use the QF program once you've obtained
the standard form.

3) Solve for x: 4) Solve for p:
3-2x 2(3x - 5) 4p-3 9-p 1
e ——— 5 _t = +

2 3 p 4 4
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5)

7)

8)

a-bw s 2
Solve for w: ow - 1 6) Solve forb: ax“+b“=cb

) x3 - 36x 1- x2
(@) GraphVY;= T 9 and Y, = 20

Sketch the result here in the standard
window. Your graphs must cross the

perimeter in the correct location and show
the roots correctly.

(b) Find the intersection near the origin

accurate to the hundredth's place.

(c) Find the root of Y; near x = 5.

(d) Find the local minimum in quadrant IV.

(a) Give the procedure for solving 0.05t° - 2t + 3 = -3.9 - 0.1t* by graphical methods.

(b) Solve the problem and write the solution here accurate to the hundredth's place.
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9) Give the following: a) Q(-5) = b) Q(7) =
c) Q(0) = d) Q((x)=9,x=

e) Q(x)=3,x= f) All roots:

10) Answer the following questions based on the functions

shown here.
g(x)
(a) f(7)= (b) 3f(-2)=
(c) Giveall "x" for which f(x) =0
£)
0
(d) What is the domain of g(x)?
0 1
(e) What does the graph of f(t) look like?
11) For each function, give the independent variable and the dependent variable.
M- ..
) Fr=ke z'j i) HM=-Bgt+wteho i) y(x)=fix-x0)
indep: dep: indep: dep: indep: dep:
12) Rewrite as indicated
M' .o - _1 2 10 5 e - 2
) R -ke r.zm ) i) H(t) 61° + 101 + i) y(x)=x
F(x) = H(2) = y(x +1) =
13) True/False Circle True if ALWAYS true. Otherwise circle False. (2 pts each)
7

T F is a quadratic.

Y= ax?+bx+c
2(x%) = 2x®
(AN ) = X'y’
(x2+1)P%=x*+1

If f(42) = 37 then the function's graph passes through (42, 37)

4 4 4 4 4+
M ™M ™M ™M ™M

y = a°x + bx + ¢ is a linear function
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2x® - 15x° - 323x + 1740
30
an intersection in the first quadrant. Then list its coordinates.

14) Graphy;= and y; = x* - 12x and adjust the viewing window to find

15) Fill in the boxes with expressions involving

a, b,c h Kk, ryr,

16a) For 2gx* + Kx + mx - H
variable x,
List A, B, C

0 with indep.

¥

16b) For 2x* + vx - ax® + y* = O with indep.

variable x,
List A,B,C
17) Leave 'a’ undetermined and write the equation \\ \ //

of graph (a) in vertex form. Then use the given
root to find 'a’. Write the parabola's equation.

@ T\ ©
\ NS

A
/
= i
N

Leave 'a’ undetermined and write the equation \ \ /
of graph (b) in factored form. Then use the y- \ ) /
intercept to find 'a’. Write the parabola’s E\ \\_’//
equation.

Leave 'a’ undetermined and write the equation of graph (c) in vertex form. Then use the
extra point to find ‘a’. Write the parabola's equation.

18) (a) 3x%y*5x’y?= (b) () (b =

2b3 3 b4 2
(c) (@®p*)? (a®b?)* = (d) W =
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You must show the solution process not merely the answer to receive full credit. Write in a neat
and organized fashion. Circle or box-in your answers. 100 pts.

1)  Mathematics often requires finding the equation of a line from a graph. Outline a
procedure for finding the equation of a line in slope-intercept form. 2) Then find the
equation for the graph shown.

40
= g /
DT ind 7 -(_.{'; iy %) 2 (“x“h\ Solution
/§‘ 2 (#8,%0) %
1, 34) 8, g
Fi | = Iz \/" , 3 :
2) -T- ')&‘l J"F‘ Y\n /\’)\x. (\\A » /(J7 ‘
‘ k" = "\l 3 25 : &
3) v),v‘, \, U 2 M 7 4,4) = WA )’ 4 L-\’ I_) 50 - : 3
\\'.‘f\.cq\t?, 3 " g:\/-x -’—;7\

4) wriu T'SLLH- /\/J; VM 7(_‘\L)

Solve each of the following equations algebraically. Show all steps and check your answers where
possible. If you must solve a quadratic, you may use the QF program once you've obtained the
standard form.

3) Solve for x: 4)  Solve for p:
3-2x _ 2(3x - 5) i[4p-3] 49 -p| [174p Led = 4p
2 2T 3 | e e ) )]

= 0
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a-bw

5) Solve forw: —_ = =1 6) Solve forb: ax?+b?=cb
«‘ ‘; ) = " = ‘\ \,\,"L" " & 2 k( X [
-5 A -~ X%
At \ A= - ¢ / ;
Bl e iy
/ i
'\_/ - R - \\, ¢ “ox” a
Erash _x*-36x P 1=
7) (a) GraphVY;= — g an Y, = 20
Sketch the result here in the standard
window.
Your graphs must cross the perimeter in
correct location and show the roots il {‘\ /
correctly. e H f
i | \ J‘
(b) Find the intersection near the origin 1 ' Ij
accurate to ] f k=]
the hundredth's place. . e I
T s {
(-o.012 ,05) FEEmEEEEvEs
(¢) Find the root of ¥; near x = 5. i L At
X=

(d) Find the local minimum in quadrant IV.

0
-

8) (a) Give the procedure for solving 0.05° - 2+ + 3 = -3.9 - 0.11* by graphical methods.

; 7 5 _ N -
(D ol o Y)ie's‘(f?\ & o (Alo ‘\’J;. 258 Y (x)

I ) } N j =

) AUPN LA T emdly AAALDS
Y oo ~ ) " ] - i : T g _— //Y\) Y‘ \V‘I \1\' ’(( | v'./_l ‘0[‘;"‘[,(,'”‘:‘
/ \) /j’ ¥, i 5 ( ’_,/5‘ ( \ ll\r[ /\./_//f/ Lor 13 ,J,/ / JC ) ¢ \ A .

/

(b) Solve the problem and write the solution here accurate to the hundredth’s place.

t=-%56
L pg 2
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9) Give the following: a) Q(-5)= ~ 1 b) Q7)= =
ko

c) Q)= d Q(x)=9,x= %
e) Q(x)=3,x=0, ¢ f) Allroots: ¥=-2,2 0,5

2003, x-a;nlmur S

10) Answer the following questions based on the functions shown

10—
here. ] g
; _ 1] 19 )l
@ f()= ~5 (b) 3f(-2)= 3*0 =0 |
T
(c) Giveall "x" for which f(x)=0 X = — ;’_/ o I (O
[T T T X TN
o,
(d) What is the domain of g(x)? ~4{ = x <4 7
0 10
(e) What does the graph of f(t) look like?
The Samae oA {')(70 ; W
“M‘ n
11) For each function, give the independent variable and the dependent yariable.
M- o
) Fr)zke~zj i) HB=-(Ngtt+vat+ho i) y(x)= f(x - xo)
indep: dep: - indep: dep: indep: dep:
r F : - H X 44
12) Rewrite as indicated "
M- i) H(t)=-161°+10t+5 =%
yFr)= ker—zmj i) H(t) + + i) y(x)=x
. Z
Foo= Ke M HR)=~16(HH10- 215 =38 y(x+1= (x+)

X2z J

13) True/False Circle True if ALWAYS true. Otherwise circle False.
T @ y= ax2—+7bx+_c is a quadratic.
Foo2(x%) = 2x®
(F) 60y = Xy’
(F) 0¢+1P=x"+1
F
F

BH- 4D

(2 pts each)

If f(42) = 37 then the function's graph passes through (42, 37)
y:a2x+bx+cisa|inear function 1 :{\7 ﬁ) /"’L/ooaff/r
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2x3 - 15x% - 323x + 1740

14) Graphy;= 30 and yz = x? - 12x and adjust the viewing window to find
an intersection in the first quadrant. Then list its coordinates. / (413 o f 3%7.3¢%)
15) Fill in the boxes with expressions involving A T
(".%)
a,b,c h K, ryra =

(), SN

16a) For 2gx® + Kx + mx - H = 0 w/ indep. variable x, y — 55 \

16b) For 2x? + vx - ax? + y* = 0 w/ indep. variable x,

17)

18)

List A, B, C = Fa : T |
| f b= Kam C=-H

= |

List A, B, C

ﬁsl“’:\’ E):, Vv : C - 1 - &

Leave 'a’ undetermined and write the equation
of graph (a) in vertex form. Then use the given
root to find ' a Werite the parabola's equation.

\ = G\ \\ v#) <+ (_

N =0l 247

 §
-

(5

e 4’7 VL 5 ,\{:1’\‘
'\‘, >~,) / :(7( (v

Leave 'a' undetermined and write the equation
of graph (b) in factored form. Then use the y-
intercept to find 'a’. Write the parabola’s
equation.

T ey ( . 23(% ) 6\\ (= % .\// . r i\ ‘A'\\(_ X~ \

3= a (o-)(0-4) - r= o (X=6)"
Leave 'a' undetermined and write the equation of graph (c) in vertex form. Then use 'rhe
extra point to find 'a’. Write the parabola’s equation. & 4 fy- » P
2 {
(@) 3 y*BxPy?= /5%y () o (= A'* 3¢
31.4\2 £.312\4 LN §2b3)3§b“)2 .T(;[ﬂc"”;é(‘ (7 (~ 
(C) (a b ) (0 b ) o ( ¢ (d) (a4b2)2 (a3b2)4 = j,__.—:»—- (_} [,; - ,-H—_;/
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